

Page 1 of 9

Contract ID: 23420 Counties: CAMDEN, GLOUCESTER

**Letting Date:** August 24, 2023 **District(s):** S4

Call Order: 420 Project(s): CRRSAA-FLEX-D00S(639)

Line No / Item ID Item Description		(1) ASPEN LA CONTRACT		(2) GEORG CONSTRUCTIO INC	N COMPANY,			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	23,103.40000	23,103.40	30,500.00000	30,500.00		
PERFOR PAYMEN	MANCE BOND AND T BOND	DOLL						
0003	153011M	480.000	0.80000	384.00	0.80000	384.00		
TRAINEE	S	HOUR						
0004	154003P	(1)	266,752.00000	266,752.00	1,200,000.00000	1,200,000.00		
MOBILIZA	ATION	LS						
0005	158003M	3,500.000	6.50000	22,750.00	8.00000	28,000.00		
CAUTION	I FENCE	LF						
0006	158006M	59,500.000	5.25000	312,375.00	9.50000	565,250.00		
SILT FEN	ICE	LF						



Page 2 of 9

Contract ID: 23420 Counties: CAMDEN, GLOUCESTER

**Letting Date:** August 24, 2023 **District(s):** S4

Call Order: 420 Project(s): CRRSAA-FLEX-D00S(639)

	•	Williams	<u> </u>			E 114 DMO		
Line No / Item ID Item Description		(1) ASPEN LA CONTRACT		(2) GEORG CONSTRUCTIO	N COMPANY,			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0007	158009M	7,000.000	8.75000	61,250.00	11.00000	77,000.00		
HEAVY D	OUTY SILT FENCE,	LF						
8000	158033M	50.000	180.00000	9,000.00	500.00000	25,000.00		
INLET FII	LTER TYPE 2, 4' X 4	' U						
0009	158084M	100.000	355.00000	35,500.00	50.00000	5,000.00		
EROSION REMOVA	N CONTROL SEDIMI IL	ENT CY						
0010	159006M	500.000	67.00000	33,500.00	120.00000	60,000.00		
DRUM		U						
0011	159009M	500.000	25.00000	12,500.00	45.00000	22,500.00		
TRAFFIC	CONE	U						



# **Tabulation of Bids** Page 3 of 9

Contract ID: 23420 Counties: CAMDEN, GLOUCESTER

Letting Date: August 24, 2023 District(s): S4

Call Order: 420 Project(s): CRRSAA-FLEX-D00S(639)

Line No / Item ID Item Description		(1) ASPEN LA CONTRACT		(2) GEORG CONSTRUCTIO INC	N COMPANY,				
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	Set:	Cat A	Cat Alt Member:		
0012	159012M	500.000	17.50000	8,750.00	40.00000	20,000.00			
CONSTR	UCTION SIGNS	SF							
0013	159015M	5.000	810.00000	4,050.00	1,750.00000	8,750.00			
CONSTR SIGN, 4'	UCTION IDENTIFIC X 8'	ATION U							
0014	159027M	5.000	4,250.00000	21,250.00	15,000.00000	75,000.00			
ARROW	BOARD, 4' X 8'	U							
0015	159030M	5.000	11,850.00000	59,250.00	17,500.00000	87,500.00			
PORTAB SIGN	LE VARIABLE MESS	SAGE U							
0016	159108M	5.000	22,000.00000	110,000.00	75,000.00000	375,000.00			
	CONTROL TRUCK CONTROL TRUCK								



Page 4 of 9

Contract ID: 23420 Counties: CAMDEN, GLOUCESTER

Letting Date: August 24, 2023 District(s): S4

Call Order: 420 Project(s): CRRSAA-FLEX-D00S(639)

Line No / Item ID Item Description		(1) ASPEN LA CONTRACT		(2) GEORG CONSTRUCTIO INC	N COMPANY,			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0017	159144M	1.000	420.00000	420.00	5,000.00000	5,000.00		
EMERGI	ENCY TOWING SERVI	CE U						
0018	161003P	(1)	5,000.00000	5,000.00	150,000.00000	150,000.00		
FINAL C	LEANUP	LS						
0019	801006M	5,000.000	5.50000	27,500.00	15.00000	75,000.00		
SELECT	IVE THINNING	SY						
0020	801012M	66,277.000	6.95000	460,625.15	12.00000	795,324.00		
SELECT	IVE CLEARING	SY						
0021	802021M	2,041.000	285.00000	581,685.00	550.00000	1,122,550.00		
TREE RI	EMOVAL, OVER 6" TO ER	12" U						



Page 5 of 9

Contract ID: 23420 Counties: CAMDEN, GLOUCESTER

**Letting Date:** August 24, 2023 **District(s):** S4

Call Order: 420 Project(s): CRRSAA-FLEX-D00S(639)

Contract Becomplien.	. 5	<u> </u>					
Line No / Item ID Item Description		(1) ASPEN LA CONTRACT		(2) GEORG CONSTRUCTIO INC	N COMPANY,		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0022 802024M	1,045.000	365.00000	381,425.00	900.00000	940,500.00		
TREE REMOVAL, OVER 12" T DIAMETER	ΓΟ 18" U						
0023 802027M	625.000	620.00000	387,500.00	1,420.00000	887,500.00		
TREE REMOVAL, OVER 18" T DIAMETER	TO 24" U						
0024 802030M	250.000	1,600.00000	400,000.00	3,100.00000	775,000.00		
TREE REMOVAL, OVER 24" T DIAMETER	TO 30" U						
0025 802033M	31.000	2,300.00000	71,300.00	4,900.00000	151,900.00		
TREE REMOVAL, OVER 30" T DIAMETER	TO 36" U						



Page 6 of 9

Contract ID: 23420 Counties: CAMDEN, GLOUCESTER

**Letting Date:** August 24, 2023 **District(s):** S4

Call Order: 420 Project(s): CRRSAA-FLEX-D00S(639)

Line No / Item ID Item Description		(1) ASPEN LA CONTRACT		(2) GEORG CONSTRUCTIO INC	N COMPANY,			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0026	802036M	14.000	2,500.00000	35,000.00	12,500.00000	175,000.00		
TREE RE	EMOVAL, OVER 36" ER	U						
0027	804015P	6,695.000	40.00000	267,800.00	45.00000	301,275.00		
BORROV	W TOPSOIL	CY						
0028	806030P	6,025.000	1.28000	7,712.00	4.00000	24,100.00		
WILDFLO	OWER SEEDING	SY						
0029	806033P	54,227.000	1.15000	62,361.05	2.00000	108,454.00		
FERTILIZ MAINTEI	ZING AND SEEDING NANCE	, LOW SY						
0030	809006M	60,252.000	1.45000	87,365.40	1.50000	90,378.00		
FIBER M	ULCHING	SY						



Page 7 of 9

Contract ID: 23420 Counties: CAMDEN, GLOUCESTER

Letting Date: August 24, 2023 District(s): S4

Call Order: 420 Project(s): CRRSAA-FLEX-D00S(639)

Line No / Item ID Item Description		(1) ASPEN LA CONTRACT		(2) GEORG CONSTRUCTIO INC	N COMPANY,			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0031	810003M	25.000	295.00000	7,375.00	1,500.00000	37,500.00		
MOWING	3	ACRE						
0032	811165M	20.000	600.00000	12,000.00	575.00000	11,500.00		
WATERI	NG	MG						
0033	608003P	263.000	62.00000	16,306.00	110.00000	28,930.00		
NONVEO MIX ASF	GETATIVE SURFACE, PHALT	HOT SY						
0034	609003M	166.000	38.00000	6,308.00	65.00000	10,790.00		
BEAM G	UIDE RAIL	LF						
0035	609004M	96.000	205.00000	19,680.00	450.00000	43,200.00		
BEAM G	UIDE RAIL, BRIDGE	LF						



Page 8 of 9

Contract ID: 23420 Counties: CAMDEN, GLOUCESTER

Letting Date: August 24, 2023 District(s): S4

Call Order: 420 Project(s): CRRSAA-FLEX-D00S(639)

Contract Time: 07/31/24 COMPLETION DATE Min: Max:

Contract Description: MTN Veg Saf Management Project, Route 42, 55 and 76 - 2023

Line No / Item ID Item Description		(1) ASPEN LA CONTRACT		(2) GEORG CONSTRUCTIO INC	N COMPANY,			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0036	609006M	45.000	52.00000	2,340.00	225.00000	10,125.00		
BEAM GU	JIDE RAIL, DUAL-FAC	CED LF						
0037	609039M	2.000	1,825.00000	3,650.00	7,500.00000	15,000.00		
BEAM GU	JIDE RAIL ANCHORA	.GE U						
0038	609042M	40.000	150.00000	6,000.00	225.00000	9,000.00		
BEAM GU	JIDE RAIL POST	U						
0039	609075M	302.000	5.00000	1,510.00	30.00000	9,060.00		
REMOVA	L OF BEAM GUIDE R	AIL LF						

**Section Totals:** \$3,831,277.00 \$8,356,970.00

Page 9 of 9



Tabulation of Bids

Contract ID: 23420 Counties: CAMDEN, GLOUCESTER

Letting Date: August 24, 2023 District(s): S4

Call Order: 420 Project(s): CRRSAA-FLEX-D00S(639)

Contract Time: 07/31/24 COMPLETION DATE Min: Max:

Contract Description: MTN Veg Saf Management Project, Route 42, 55 and 76 - 2023

Line No / Item ID Item Description		(1) ASPEN LA CONTRACT		(2) GEORG CONSTRUCTIO INC	N COMPANY,		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 NON-PARTICI		PATING	Cat Alt	Set:	Cat A	It Member:	
0002 152015P POLLUTION LIABILITY INS	1.000 URANCE DOLL	4,000.00000	4,000.00	7,500.00000	7,500.00		
Section Totals:			\$4,000.00		\$7,500.00		
Contract Totals  Cost Plus Time Totals			\$3,835,277.00		\$8,364,470.00		
			\$3,835,277.00		\$8,364,470.00		

() indicates item is bid as Lump Sum

Page:



Vendor Ranking

Call Order: 420 Contract ID: 23420 Counties: CAMDEN,

GLOUCESTER

Letting Date: August 24, 2023 10:00 AM District(s): S4

**Contract Time:** 07/31/24 COMPLETION DATE

Contract Description: MTN Veg Saf Management Project, Route 42, 55 and 76 - 2023 Project(s): CRRSAA-FLEX-

D00S(639)

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	ASPEN LANDSCAPING CONTRACTING, INC.	\$3,835,277.00	100.00%
2	GEORGE HARMS CONSTRUCTION COMPANY, INC.	\$8,364,470.00	218.09%
	INDEPENDENCE CONSTRUCTORS CORP.	Irregular	
	EASTERN LANDSCAPE CONTRACTORS, INC.	Irregular	

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.